
例題3 次の資料に基づいて、帳簿の締切を行なってください。

売上
現金 150,000

仕入

買掛金 100,000

損益 現金

売上 150,000

繰越利益剰余金

前期繰越 20,000利益準備金 10,000

買掛金

仕入 100,000



売上 損益
売上 150,000

例題3 次の資料に基づいて、帳簿の締切を行なってください。

現金 150,000損益 150,000

仕入

損益 100,000買掛金 100,000

仕入 100,000

現金
売上 150,000

繰越利益剰余金

前期繰越 20,000利益準備金 10,000

買掛金

仕入 100,000

50,000繰越利益剰余金

損益 　  50,000

150,000 150,000

100,000 100,000

150,000 150,000

150,000次期繰越
150,000150,000

150,000前期繰越

100,000次期繰越
100,000100,000
100,000前期繰越

次期繰越 60,000
70,000 70,000

前期繰越 60,000


